1) In a certain experiment, 0.424 mol sample of Zn is allowed to react with 158 mL of 7.60 M HNO;

according to the following reactjon: _
Zn(s/)+-> Zn(NO3)2(aq) + H20¢1) + NOy(g) B
=

a) What is the limiting reactant? @ -
b) How many grams of NO; is formed?
¢) How many grams of the excess reactant remain after the limiting reactant is completely

S consumed? _
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2) Aluminum oxide, Al;Os, can be prepared by the reactigr!%‘e‘tween solid aluminium, Al, and solid
chromium(lll) oxide, Cr,0s. The other product of the reaction is liquid chromium, Cr. In an
experiment, a reaction mixture containing 45.7 g Al and 45.7 g Cr,03 yield Al,0s.)Calculate

the percentage yield of the experiment. ( )
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3) The reaction @and 0; forms NO and water. The NO can be used to convert P4 to P,Os, forming
N; in the process. The PsOg can be treated with water to form HiPOi;. How many grams of Hi3PO; ——
can be produced from 85.0 grams of a sample containing 49.2% NHs.
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4) The purity of phosphorus sample was tested by the redox reaction between NaOH, and phosphorus
in water according to the below reaction. If 45.92 g of NaOH yielded 5.760 g PHs;, what is the
percent impurity of phosphorus by mass?

4 Pgs) }N‘aOH(aq) SH,00) R NaH2PO2(aq) + PH3(g)
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5) Write the balanced combustion reaction of 7g)_g of the molecule drawn below. How many grams
[ of oxygen are consumed? How many grams of CO; are produced? S
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